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Think: Jennifer has the number 235,892. She 
says that the 5 in her number has a value of 
5,000. Robert says that the 5 in her number 
has a value of 50 hundred. Who is correct? 

Explain your answer. 
 

 

 

 

 

 

 

 

I think ____________________________________________________ 

______________________________________________________________ 

______________________________________________________________ 

because___________________________________________________ 

______________________________________________________________ 

______________________________________________________________ 

______________________________________________________________ 

So __________________________________________________________ 

______________________________________________________________ 

______________________________________________________________ 

_____________________________________________________________. 

 

 

  Idea: Idea: Idea: 

Idea: Idea: Idea: 

Additional workspace: 

Here is my mathematical thinking: 


